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Quiz 6
Data analysis
	Question
	Answer
	Marks
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=INT(G3/60)

Two from:

Gives the integer part of the calculation

Works out the minutes

The calculation is G3 divided by 60//Total time divided by 60
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B4+(B4*Plan!$B13)

Three from:

Calculates the 2021 income in the Model sheet

By increasing the 2020 income by 2.5%

The 2.5% is taken from the Income Growth cell in the Plan sheet

The $ is needed as the column B needs to be retained when the formula is
replicated — 1 mark

The ! is needed to show that the data is being taken from a different
worksheet — 1 mark




image2.png
IF(B20>35000,“Y","N")

The formula automatically displays a Y/can buy the car
if the Savings cell/B20 is greater than $35000
otherwise it displays an N/cannot buy the car
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